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d’ dy(x) .,
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Order of the O.D.E.?
Degree of the O.D.E.?
Linear or non-linear?

/e e op

Homogeneous or non-homogeneous?

N

. (10%)Find the solution of the (6xy—y*)dx +(4y +3x* —=3xy")dy =0

(O8]

. (10%)Find the solution of the —:% =-6xy, p0)=7

4. Solve the initial Vai_ue problem y"-3y+2y=3e"-10cos3x, »(0)=1, y'(0)=2
(5%) (a) General solution
(15%) (b) Particular solution

5. Find the Laplace transform of

(5%) (a) £4'}
(5%) (b) £{3e¥ +1-cos 6t}

6. Find the Inverse Laplace transform of

1
s+2}

(5%) () £4{

st 41

0, -1
(5%) 0) £ {33 —25> -8

1

. X 0 if —m<x<0
7.(20%) Find the Fourier series fot the periodic function f(x+27)= f(x) where f(x)=¢ ,
x° if 02x<7w




